=
=
03]
<
x
o
|
=
w
0
T
<
=
(®)

SCLCR/L

0603HaueHNe MnactnHa
Buht

SCLCR/LO808F06 8 8|8 (12| 8|10

CC**0602 | M2.5*6 T8
SCLCR/L1010F06 10 (10| 80 |12 10| 12
SCLCR/L1212F09 12112 | 80 |16 |12 | 16
SCLCR/L1616H09 16| 16| 100 [ 16 | 16 | 20

CC**Q9T3 | M3.5*9 T15
SCLCR/L2020K09 20120 | 125 |16 | 20 | 25
SCLCR/L2525M09 2525|150 | 16|25 32
SCLCR/L2020K12 20120 | 125 |20 | 20 | 25
SCLCR/L2525M12 2525|150 | 20 | 25| 32 | CC**1204 | M5*12 120
SCLCR/L3232P12 321321170 | 20| 32| 40

@

TUMITEC

turning & milling technologies




SCLCR/L

=
=
03]
<
X
o
(11}
=
w
0
T
E
(®)
|

0603HaueHve MnactvHa

Buht

SO07K-SCLCR/LO6
SO08K-SCLCR/LO6 010| 8 | 5 |125|18|7 |13° M2.5*5
SO8K-SCLCR/L06-A16 010|116 5 |125|2415]13°

CC**0602 8
ST0K-SCLCR/LO6 012|110 6 |125|22| 9 |12
ST0K-SCLCR/L06-A16 012116 6 [125|30|15|12° M2.5*6
S12M-SCLCR/LO6 914112 7 |150|25|11]10°
S12M-SCLCR/LO9 0915112 | 8 |150|30|11]12°
S14M-SCLCR/LO9 01614 8 |150|30|13]12°
$16Q-SCLCR/LO9 019116 | 9,5 | 18034 15| 10°

CC**09T3 | M3.5*%9 T5
$20Q-SCLCR/LO9 ©923/20(11,5/180|38 18| 8&°
S25R-SCLCR/LO9 028|25| 14 |200|45|23| 6°
$32S-SCLCR/LO9 03632 | 18 |250|45|30]| 6°
$200-SCLCR/L12 024120 12 | 18042 (18| 8°
S25R-SCLCR/L12 034125(145/20045(23| 5°

CC**1204 | M5*12 120
$32S-SCLCR/L12 03632 | 18 |25045(30| 6°
SA0T-SCLCRL12 044140 | 22 130048 (38| 4°

Pasmepbl -
0603HaueHne MnactinHa Sthc??(;r)]er

Bunt

SO8K-SCLCR/LO6-AV | @10 | 8 | 7 |125(18|20(19| 5 [12° M2.5*5
ST10K-SCLCR/LO6-AV | @12 | 10| 9 |125]20|25|21| 6 |12°| CC**0602 M2.5% 8
S12M-SCLCR/LO6-AV | @14 | 12| 11 | 15027 30|28 | 7 |10°

$16Q-SCLCR/LO9-AV | @18 | 16| 15 |180|30|34 31|95 [10° o4

S20R-SCLCR/LO9-AV | @24 | 20 | 19 |200|42 |49 43| 13 | 7° | CC**09T3 M3.5*%9 TS5

§25S-SCLCRILO9-AV | @27 | 25| 24 |250 |46 |55|46(13,5| 6°

TUMITEC
u turning & milling technologies




